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Why do I need them standing within — 71903 PRI O T

OVERVIEW

The X773 asks; according to the view that "n7 “¥papnd *72y why is it necessary (for
the 7X7n) to interpret the Xn>>72 which states 2*72y 71p ¥pIp2 PN, in a case where
the o7ay are 79102 PTAW (seemingly, according to the ruling of »xww,' the o712y
should be 7121 even if 72102 PIW X). There may be a slight difficulty with this
question. Perhaps the 1¥7n assumed that the ruling of 2Xw cannot apply to 0°72y
since they are different than yp7p (even though *n7 vpapnd >72¥). The X0 may
have assumed that the >72y are 71p1 with the ¥p7p2 AP either through 23X 1P or
7xn 7Ip. Therefore the %N felt (especially if it is *yxn 1ap [and even if it is 1P
>23%]) that it is necessary for the 272y to be 72102 17w, Our MoON will explain
that the %70 could not have entertained such thoughts that the 2>72y are 7321 either
through 2% 7°3p or 23X 11p.

- SnYTY PAnnYN PR DITAY SONDT NP I8N DYV XY Th99 Yy ‘vivs
The explanation of the question 72112 PTW % 127 is as follows: we are obliged
to say that the 0°72y are not being acquired through =xn %1p, for generally 2372y

are not being guarded under his supervision -

= 19999 X 2a85 TaY MNTINTY T8I 19 1DON)
And even if the person who wishes to acquire the 72y is standing beside his field,
he will not be P the 72y through 2%n 1P, for the 72y is like the case where a
deer is running in a normal manner in someone’s field. The rule there is that since he
cannot reach the deer (before the deer exits his 7%77); he is not 7117 the deer [even if he is T2 AW
17%r1]. The same would apply to an 72v. Therefore there is no reason to assume that he can

acquire the 72y through %11 11p.
= YPP N DIPI PN YPIPT NIP R ) N DYV

And he cannot be 71292 the 72v through 2% 7737, for ¥Pap cannot be acquired 28
YPAP (and now we are assuming 17 *YpIpnd v72Y) -

L399 73p 1n 'R2 prImAw 10 M b mTw 1 on.

93 pap is only effective if the object to be acquired is within the 9%r.

> When we assumed that >n7 “>u%un3 *72y and it was Xm1 that we require the 2°72y to be 7212 PImW, it was
concerning 23X 117 (not 1¥1 1°1p) as is evident from the '"7°nyw 2>y X°wp that why do we require 72102 P72 since by
23X there is no need for 7M12%. It is evident that it was understood that (even) for 23% 11p, we also require that the
0°72Y be 710102 PIAWY.

* The term w1 is coming to address the difficulties indicated in the ‘Overview’.

> See previous 727 7"7 Moo “Thinking it over’.

% See previous 12n 7"7 Moo footnote # 6, that a 7¥n must be 2"7wa NYT> MnNwn in order to be fnp. Here mooin adds
that the item which is acquired through 221 P17 must also be 2"y nY72 MNWH.
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- 7PN MIPN NN 'DINNY NNNDN YPID 33D NN I1T99N)
And even if the 71pn said; ‘be 27 the land that is close to the [217n] (2y70) and

through it you shall be 71112 the land above it -
- $2383 937 XY 1% 23 HY 11 NN RNYNT

Were now it is one land on top of another land, nevertheless he cannot acquire

the upper land through 23R 7°1p. Therefore he can certainly not be 717p the 72y through 1P
23X (even if the 72V is on the ¥p7p which the purchaser was 7111p).

We have therefore exhausted the possibilities why if the 72¥ is standing within the ¥pp he is 7111
through the ¥p7p. It cannot be through 7% 1°1p, or through 23X 1°3p.
= 929N 2PYNT 5NN 139N 2IPT RN TIN5 Y NON

But rather we are obliged to assume that the reason he is 7212 the 72v is because
the 72y is considered attached to the yp p. It is one and the same 7°3p.°

Therefore the X3 asks:
= MI*1N YYYA MTY YWY N7 %573 M99MA 127219 PPN 129N 19 ON)

If this is so, that the 72 is considered ¥p1p% 12w, then even if he is not standing
within the ¥p7p he should also be 71p3, for it is like purchasing ten fields in ten

countries that even though they are not attached, he acquires them all; therefore he should also
acquire the 72y regardless where the 72V is.

- 1979 13 1913 HNNA PNNY s
Since he made a 712117 in one of the fields he acquired them all.

mooIn anticipates a difficulty:
= 7253 Y191 DIPN RINX NIP NY (x,7 97 xIna x33) DINAN NPIN P92 HNINY 9INPT XY

And concerning that which >Xm»w stated in 2°n27 npmn pas, ‘he acquired only

the place where he dug alone’, but he is not np the rest of the field. Why does 7Xmw rule
here that he is 71139 all the fields in different countries?

" The a"w 2" (and w"w) amend this to read 010, There was for instance a cave and ground above the cave. He
was told to be n11p the cave (the lower ¥pp) and 723X to be 1P the upper ¥p7p above the cave.

8 YpIp is not 2aX32 771p3, since the P09 of 23R mentions only *7u%0n (N1ITAM ,277 ,70I).

’ When a person makes a P17 in a field through y191 973 9¥1 he is P the entire field, even those areas where no 1Ip
7P was performed. The 72v is considered as part of the field (when he is 72102 7).

' If the x»3 would not have taught that by 72107 P72 the 272y are 733, there would be no inclination that 072y
should be 1171 similar to m7w ", for we could differentiate between a ‘real’ 71217 and 0°72v. However now that you
claim that if 72102 777, the 272y are 7111 and it cannot be because of X or 23X (as NN just explained); it must
be only because the 72y is considered 72111, therefore it is similar to M7¥ ", so why do we require the 713102 779
See mw mx >"71.

' According to the 5w 0"97n, this is the beginning of a new Moo
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mooin replies; the ruling in 2"2 is —

=990 NP IMNX NIPN NINN NYT ON YAN 9PN )N 20932 139N
Concerning a 77711 made in the assets of a 93 (who died without heirs), which are
apo:; it is only there that Y% maintains that 7272 W12 1P XX 11P X2, however
if there is ‘another mind’ who is granting him the rights over all the fields (i.e. if
someone is selling him the various fields) then he acquires them all."?

mMooIN anticipates an additional difficulty:
- 2091 9311 Ponn NPT XM

And that which the X states there, that ‘a boundary separates’; one cannot

acquire any ¥pp beyond the boundary of the field in which he is making a 7pin. This ruling is
also contrary to the ruling of 21 M7w Wy 1% n.

mooIn responds:
= 0915 997 DNY 1N XYY 99193 IN )N Y0933 93 139N

That is also concerning the properties of a 93 where it is P57 and there is no ny7
73Pn nnX. Or (alternately) it is in a situation where it was sold, however the buyer did
not give the payment for all the fields, therefore he does not acquire anything beyond the =137 -
$(2,82 41 PYITPT NP P92 NMTI 183 B9 74
For it is required that the entire payment be received in order that the ruling of
0?15 mp "2 MTw 0 10n, go into effect, as is evident in the first 5 of w7 noon.

SUMMARY

An 72y cannot be 73p1 through 2xn pPIp (for it is 2"nv2 NYTH 9NWA 1K) or through
23R 773p (if 17 *vppnd 7ay; for 232 N°Ip3 ¥PIp 7°X). He can only be m1p1 with vpap
because he is considered ¥pp% 7211 (as in s'2X1W ruling) if he is 7212 7.

THINKING IT OVER

1. MmO states that 72102 7MW cannot be referring to X1 I by 0°72Y, since the
072y are not Y7o “nwn. Why did not mpoIn use his previous proof,'* that we
cannot be discussing ¥r 1Ip; for then there should be no difference between
Toubun and o7y

2. Can vpnp be m3p1 through 1% 173p?'°

2 1t is easier for a 1P to be effective when there is a 1MX 711 NANR NYT as opposed to being 1112 from po:.
B9y x50 2",

% 9o 72,

1% See n"m.

1 See 1w M *"™2 and AN MK 1" WYL

3

TosfosInEnglish.com



